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MONUMENTS '
1. Which monument is visited by the most number of children? £ - *Wv' ot Indiy

2. Which monument is visited by the least number of children? < o A+ "‘rLJ

3. How many children visited Meenakshi Temple? =~ . g
4. How many children visited Taj Mahal? —, IR2 T
5. How many children visited the TaJ Mahal and the Vlctona Memor1al‘> § +q" W |
> -+ q . childra 0
~ POINTS TO REMEMBER g ?E_‘gi ~

» The information in a list can be in the form of names and numbers.

» Data can be represented with the help of a pictograph.

@; » A bar graph is another way of representing data.
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ENRICHNMENT ACTIVITIES

TIME Do " beele
A. Tick () the correct option. and Ce P‘t} _
1. Your winter vacation lasts
a. 10 hours. \) b. 10 days. A c¢. 10 minutes. J
2. Quarter past 6 is the same as
a. 6.15. \\j’ b. 7.05. \__} . 755, W,
3. 1 day has
a. 60 minutes. D b. 24 hours. \,\ﬁ’ c. 7 weeks. )

4. If today is Thursday, tomorrow will be
2. Wednesday. ) b. Thursday. )

r

Friday. >3

5. comes after August.
a. September \ﬁ b. July }
B. Write the time.

g

October \_é}

Las |
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Fill in the blanks,

1. M:q_ is the first month of the year.
2. There are ‘MZ%A days in a year,

3. The month of February in a non-leap year has -?,?’

days.




4 1 hour has 60 minutes.

., Making tca takes about minu 4 L (mms, hours, days).

PROJECT

p. When it is S p.m. in India it is 7.30 a.m. in some parts of the United
States of America. If it is 8.30 a.m. in India on the Ist of January 2017
what is the time and date in those parts of the United States of America?
Find the time difference between India and two other countries.

MONEY

A. Tick (¢) the correct option.

1. 7 rupees 5 paise is the same as

a. 0.75p. ) b. X7.05. v ¢ 15p._)
2. 10 coins of 25 p make
%5, J b. T25. ) e. ¥2.50. v
3. Cost of a lollipop is ¥ 1.50. The cost of 4 lollipops will be
2. ¥550. ) b. T6.00. v} . T475. )
4. Meeta paid T 120 for 4 movie tickets. The cost of each ticket is
a. ¥30. V) b. T12. ) . ¥20. )
5. John buys a bag wh1ch costs three tlmes a box costmg A4S 45 The cost of
the bag is : ~ 5
a. T 45. J b. ¥ 15. 4 e. ¥ 135. \j

B. Fill in the blanks.

\/50 paise + 50 paise + 25 palse =
2. 3 coins ofi_ paise = ¥ 1.50
3 _g_ coins of ¥ 1 will make 5 rupees.

s. _ 20 notes of 5 rupees each can be exchanged for a 100-rupee note.
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5. Varun had 7 notes of 50 rupees. He had ?QO . .':} 2¢O
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6. If a chocolate costs ¥ 9, 1 can buy __ Ll chocolates for T 100.
T 1 will be left over. =

7. A key chain costs ¥ 7 §0 For 4 such key chains Prema will have to pay

T30 d: SO X 4 -30.00
C. Match rupees with paise. 230 op Did you get
L %700 " _ all your sums right?
— & 800 Best of luck.?
2. X565 b 21000 |
3. 8000 p 5. 565D

4 7375 p 7&\\::.700 p
. 1000 p —————— . T73.75

D. Compare and put >, < or = in the
1. 400 p < T 400 A_ 4. ?5+50p ) 5coins of T 1
2735 >, 3725 ‘Sl s ?750 2250 ) T 3.50 =5

.N
3. 1000 p pJ, 100 p sl 6. 2 coins of T 5 =, 5 coins of ¥ 2
100 Tl = 1D 210
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